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~2. 1 0 1] 0 0 0 0 [
~1.5 4 0 0 0 0 0
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QLTF& Q2 1838 Q3 OOy gE Q4.T3k Q5_sRRE
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b = b ES B b ES B b £ b £
4.0~3.5 0 0 q 0 0 o 3 0 3 4 0 3 4 0 3
~3. 0 0 0 0 1 9 0 7 9 0 9 6 0 5
~2.5 0 0 4 1 0 5 2 1 9] 1 1 1| 1 0 3
~2. 3 0 4 6 0 5 0 0 0 0 1 1 1
~1.5 9 1 4 7 1 1 0 0 0 0 2 0
~1.0 2 0 q 0 0 o 0 0 o 0 0 o 0 0 q
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QL0 RQIL AT T2 RQI2_ AT (T3 IRQL5_XF AT 47
REX ¥TofR 1 [l o> 2R H] FA
B & = B b = & ES B B
4.0~3.5 1 0 1 1 0 9] 0 0 o 0 0 o
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4.0~3.5 0 0 o 0 0 3 2 1 43 1 1 44} 4 1

~3.0 1 0 [ 0 0 14 5 0 20§ 7 0 21 2 0
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~1. 0| 0 0| 0| 0 0
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~1.5 2 0 B 0 0 0 0
~1. 2 0 0 0 1 0
FiafEl 211 3.06 2.71 3.58] 3.64] 2.79) 2.97
Q10 2N RQL1L_ AT AT % RQI2_ AT T %% IRQL5_XFH AT 47
UERX ¥ETORER 1 [H] 0D FERE ] FLGEAER R
b = # b ES B P ES E o =
4.0~3.5 0 0 1 1 0 13 1 0 4 1 0 9
~3.0 0 0 4 1 0 4 1 0 7 1 0 7
~2.5 1 0 P2 | 0 0 o 1 0 3 1 0 o
~2.0) 1 0 7 1 0 o 0 0 9] 0 0 1
~1.5 0 0 9] 0 0 o 0 0 o 0 0 o
~1.0 1 0 1 0 0 o 0 0 1 0 0 o
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1RQ9_ 1HQ13_ EQl4_
E&XFE PR C &AL & HE~DOEM O A [ R A D
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~1. 14 0 0 0 0 0 1
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100.0~50. 1 0 I 0 0 4 0 0 1
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TIEl 0.6 0.34) 0.07 0.1 0.04 0.3¢
1RQ9_ HQ13_ RQ14_
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E =2} = B b=} = B b2l =
100.0~50. 1 0 A 1 0 2 1 0 9]
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11':3@' 0.07 0.26 0.09 0.14 0.09 0.2
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P QlL_FH Q2 183 Q3_ OO = Q4_Tk Q5 2%
B pe<l = B b=} = E b=} = E p<l = b=}
4.0~3.9 0 0 0 0 23 7 19| 8 24 9
~3.0 2 0 0 0 0 14 8 16| 5 5 5
~2.5 3 8 4 6 2 0 4 2 4 1
~2, 9 5 12 5 0 0 0 0 4 0
~1.5 19 2 20 4 0 0 0 0 0 2 0
~1. 6 0 3 0 0 0 0 0 0 0
Fi9ME 192 2.44 1.97 2.28 3.52| 3.45) 3.43] 3.39) 3.36] 3.52|
Q6_TTRAREDEEL Q7_ AR S Q8_HIEH I
FRENX RS
B b2} = B E = B pt-<} ES
4.0~3.5 34 15 21 7 12 2
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~2, 0 0 0 0 0 0
~1.5 0 0 0 0 0 0
~1. 0 0 0 0 0 0
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23 Vi 2]
JrE— QLF& Q2_183 Q3_HOMbhgE Q4_TX
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